
Illinois Department of Transportation

ENGINEER OF DESIGN AND ENVIRONMENT

APPROVED

APPROVED

ENGINEER OF LOCAL ROADS AND STREETS

2012

2012

I
S

S
U

E
D
 
1
-
1
-
0
8
 
 

January 1,

January 1,

DATE REVISIONS

(7.5 m)

25’-0"

min.

25’-0" (7.5 m)

min.

22’-6" (7.0 m)

(3
.0
 

m
)

1
0
’-

0
"

100’-0" (30.0 m) desirable

35’-0" (10.0 m) min.

Flatter

Slope 1:10 or

Edge of shoulder

Soil plate H

Anchor plate T

in steel tube

Wood posts inserted

(660)

26

(1.905 m)

6’-3"

(7
3
7
)

2
9

� (M16) bolts

(457)

18

2� (60) Dia. hole

Ground line

Cable assembly

� (M16) Bolts

(1
0
0
)

4

Plate washer F

Diaphragms

Bearing plate K

� (M20) Bolt

(1
9
0
)

7
�

other type

Pay limits of

(1.905 m) (wood posts)

2 Spaces at 6’-3’’

(1.27 m) (steel posts)

3 Spaces at 4’-2’’

curve
37’-6"

 (11.4
3 m)

(1
.2

2
 

m
)

4
’-

0
"

Pay limits of TRAFFIC BARRIER TERMINAL TYPE 1 (1 ea.)

Omit plate A

2 Spaces at 6’-3" (1.905 m) (F
a
c
e
 
o
f
 
r
a
il
)

Traffic Flow

See table of offsets

X

Y

8 7 6 5
4

3

2

1

(1.2 m)

4’-0"

min.

5’-0" (1.5 m)Plate washer F

or flatter

Slope 1:10

1:4 desireable

Slope 1:2� max. *

* If fill height exceeds 5’-0’’ (1.5 m) use 1:3 max.                       

(1
3
)

� (5
0
)

2

unless otherwise shown.

All dimensions are in inches (millimeters)

 

(V:H).

displacement to units of horizontal displacement

All slope ratios are expressed as units of vertical

 

of the terminal prior to post 8.

the guardrail shall transition down to the height

When this terminal is used with Standard 630001,

 

over the top of the plate.

two eightpenny nails driven into the post and bent

The bearing plate K shall be held in position by (2)

 

one piece nose shown above.

A two-piece assembly may be substituted for the

 

post shall be 12 (300).

in lieu of posts 4 & 5.  The offset (Y) for this

used, one post shall be located midway between and

of the Contractor.  If standard wood posts are

standard wood posts or steel posts, at the option

posts.  Posts other than 1 & 2 may be either

Posts at location 1 & 2 shall be wood breakaway

 

shown.

See Standard B.L.R. 26 for details of guardrail not

X ft (m) Y ft (m)

OFFSETS TO FACE OF RAIL

Post

(11.345)

37.22

(9.475)

31.09

(7.595)

24.92

(6.335)

20.79

(5.070)

16.64

(3.805)

12.49

(1.905)

6.25

(0.00)

0.00

(1.22)

4.0

(0.850)

2.79

(0.545)

1.79

(0.380)

1.25

(0.245)

0.80

(0.135)

0.45

(0.035)

0.11

(0.00)

0.00

1

2

3

4

5

6

7

8
SHOULDER WIDENING TRANSITION

TUBULAR STEEL FOUNDATIONS

WOOD BREAKAWAY POSTS

GENERAL NOTES

PLAN

SECTION A-A
1-1-12

(Sheet 1 of 2)

TERMINAL TYPE 1

TRAFFIC BARRIER

A

A

1-1-09

English (metric).

Switched units to

breakaway post.

height and wood

Revised barrier terminal

STANDARD B.L.R. 23-4

(5
8
1
)

2
2
�



Illinois Department of Transportation

ENGINEER OF DESIGN AND ENVIRONMENT

APPROVED

APPROVED

ENGINEER OF LOCAL ROADS AND STREETS

2012

2012

I
S

S
U

E
D
 
1
-
1
-
0
8
 
 

January 1,

January 1,

(Sheet 2 of 2)

TERMINAL TYPE 1

TRAFFIC BARRIER

� (20) Dia. hole

S4S

1 (25) Dia. hole

 (2 ea.) 

2� (60) Dia. hole

in post  1  only.

2 (50) Dia. std. pipe

(1
7
8
)

7

(1
7
8
)

7

(2
1
6
)

8
�

(140)

5�

(190)

7�

� (22) Dia. hole

� (20) Dia. hole

(38)

1�

(38)

1�

(127)

5

(2
2
9
)

9

(2
2
9
)

9

(8
9
)

3
�

(1
.3

7
 

m
)

4
’-

6
"

(203x152x5)

TS 8x6x0.1875

� (6) Steel plate

hole (typ.)

� (20) Dia.

(2 ea.) 

(241)

9�

(127)

5

(241)

9�

(609)

24

(1
5
0
)

6

(2
2
5
)

9 (4
5
0
)

1
8

(7
5
)

3

~

(76)

3

(38)

1�

(4
4
)

1
�

(2
2
)

�

plate

� (5) Steel

Slotted hole

�x1 (18x25)

(1 ea.)

0.0747 (2) Steel

�x1 (13x25) Notch

5� (135) Dia. hole

(2 ea.) 

(178)

7

(184)

7�

(5
3
3
)

2
1

~

Dia. hole

� (22)

plate

� (6) Steel

(8
9
)

3
�

(1
6
5
)

6
�

(4
5
0
)

1
8

(203)

8

(203)

8

� (6)

(203x152x5)

TS 8x6x0.1875

(203)

8

(203)

8

(2 ea.) 

(10x25x190)

�x1x7�

Dia. hole

1� (27)

plate

� (16) Steel

~

(190)

7�

(1
2
7
)

5

(2
0
0
)

8

� (6)

on 3 (75) centers

1 (25) Tack welds

11 (280) R

Diaphragm

(57)

2�

(51)

2

(457)

18

(311)

12�

(216)

8�

(3
1
0
)

1
2
�

(4
0
6
)

1
6

(25)

1

for � (M16) splice bolts

�x1� (23x29) Slotted holes

bolt only.

head and nut at this

plate washer F under

for � (M15) bolt, use

� (20) Dia. hole

(1 ea.)

(1 ea.)

WOOD BREAKAWAY POST

PLATE WASHER F

DIAPHRAGM

STEEL TUBE

SOIL PLATE H PLATE CONNECTION

ALTERNATE SOIL

BEARING PLATE K

NOSE

STANDARD B.L.R. 23-4

(1
.0

4
 

m
)

3
’-

5
"

(4
7
0
)

1
8
�


	216-BLR23-4_TrafBarrierTermType1-271
	216-BLR23-4_TrafBarrierTermType1-272

